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O 	

June, 2013 

BES-010 : TEACHING OF ENVIRONMENTAL 
STUDIES 

Time : 3 hours 	 Maximum Weightage : 70% 

Note: (i) All questions are compulsory. 

(ii) All questions carry equal weightage. 

1. Answer the following question in about 
600 words : 
Discuss what is meant by 'Integrated Approach 
in teaching of EVS. Why is it important at the 
primary stage ? 

OR 
What is meant by 'Thematic Approach'? How 
does this approach help learning among children 
at primary stage ? 

2. Answer the following question in about 
600 words : 
"The EVS curriculum should be transacted in a 
way that children can relate what they learn in 
the subject to the world outside". Discuss the 
implications of this statement on the teaching of 
EVS. 

OR 
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What is meant by 'Unstructured' teaching 

learning process ? Why is it important in the 

context of teaching EVS ? 

	

3. 	Answer any four of the following questions in 

about 150 words each : 

(a) What are the learning resources apart from 

the textbook, which can be used in the 

primary classroom for teaching EVS ? 

(b) 'Hands on experiences in children are 

expected to develop cognitive and 

psychomotor skills'. What are the skills that 

can be developed through such 

experiences ? 

(c) How is EVS an interdisciplinary area of 

study ? 

(d) How can the teacher ensure integration of 

school learning with the actual life of 

the child ? Give an example. 

(e) What is a food chain ? 

(f) Give an example of interaction occurring 

between human beings and their 

socio-cultural environment. 

	

4. 	Answer the following question in 600 words : 

For class IV students, suggest an activity for 

transacting the topic 'FOOD'. The objective of this 

activity is to observe diversity in food items and 

food habits. 
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